ECE 301 Exam 1 Solutions

Question 1.
. W= 3(7-1) 4 Sﬁ: St AGr)=-25=)
/\\U =
{‘ =T
Vo5 e )

2. A (5)= O i s 227T
NJw =0 1f  t-c2[020)>5¢ [t-0mt)
5 coses.
When. + 21227 (t297).
X(Nt-5)=0 for ol 5 . y(t)=0
W hen Tt—%<271 & Gnde<en)
Y)= f & 2cos(t-5)ds

—’JZ) 2r< 16 S) 3(5 t)dS
C/Jf @3 ﬁ (ng)s?&

t-270 S=2%

— (T Q"t Qﬂ)ﬁ)

27 2t $=t271
(EF47T Q(J“‘m:j sz 4w @zt%w

+ o5, t
2-4 2+ 279 2t togt
—().4e Sm(ﬂJrO YA cos(t) 0 8@,2

W hen b 4275

<‘f)— o p* 2c0£@—5)c{ o
}7 JQ:LT 2t Q_i B 2 —0¢ ( gf_ 2t~ 4)

— =t = "2 25

2016-09-23 09:13:14 1/6 Unnamed Doc (#6)




%107

10

15

20



Question 2.
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